Answers to OAD 2003
1. A solution of potassium phosphate is mixed with a oslution of calcium acetate.  

Reaction type: double replacement

Note: Looking at the answer it appears as synthesis (because it’s the net ionic eqn), but it was double replacement.
Answer: PO43- + Ca2+ ( Ca3(PO4)2
2. Solid zinc carbonate is added to 1.0 M sulfuric acid.

Reaction type: double replacement and decomposition of H2CO3
Answer: ZnCO3 + H+ ( Zn2+ + H2O + CO2
3. A solution of hydrogen peroxide is exposed to strong sunlight.

Reaction type: Decomposition

Answer: H2O2 ( O2 + H2O

Note: Know this reaction.

4. A 0.02 M hydrochloric acid solution is mixed with an equal volume of a 0.01 M calcium hydroxide solution.

Reaction type: Acid/base

Answer: H+ + OH- ( H2O

Note: Anytime a strong acid reacts with a strong base, you will ALWAYS get the above net ionic equation.

5. Excess concentrated aqueous ammonia is added to solid silver chloride.

Reaction type: Complex Ion Formation 

Note: See the key words noted above(this is screaming complex ion formation!

Answer: NH3 + AgCl ( [Ag(NH3)2]+ + Cl-
6. Magnesium ribbon is burned in oxygen.

Reaction type: Synthesis

Note: 2nd reaction type classification= combustion of metal ( metal oxide

Answer: Mg + O2 ( MgO

7. A bar of strontium metal is immersed in a 1.0 M copper(II) nitrate solution.

Reaction type: metal + transition metal ( redox
Answer: Sr + Cu2+ ( Sr2+ + Cu

8. Solid dinitrogen pentoxide is added to water.

Reaction type: nonmetal oxide + water ( acid (no change in oxidation state)

Answer: N2O5 + H2O ( H+ + NO3-
Note: HNO2 would have given a change in oxidation state so this couldn’t have been a possible product.

